normalized X?

107}

1072

[ normalized x? probability |
0.07

0.06f--:---3

0.05f--3---:

10°F 0.04
F 0.03f--
107F
i 0.02
10°F
3 0.0.
o,]n—%- 1 1 1 i 1 1 1 ° J.»\-B
3 P : SN |11 e B RN
24 [ 14 OO EHO SO HIAHEATEHEHEE
e M R TTOTaHTE RTTTITRITTE
EEEEREEE L R
09024 6 8 10 12 14 16 18 20 09%970.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
Na Prob(x?)
mmmm= DQM_TT__original
s DQM_TT__VLOOSENEW
wmm— DQM_TT__VLooseNEWa3iter
A5 = 5F
s £ E
2 45 Noaf
Iy A
> 4 & 3E-
\ Q»— E
35 s 2
3 v 1;_.
25 oF-
2 -
1.5 -2F-
1=- _3;_.
0.5] ,42_.
g 9 ' o 5f
3 i | 5
o i @
1 | o
095372 0 1 2 3 R R

< X2/ ndf >

k)
T
v
095 ; . s
107 1 10 102 plo
T
S :
A 4
o of
- 3:_
o F
o 2B
\2 E
-
oF-
-
_2;_.
_3;_.
—af-
g +BF
3
@
£
0.95

0 2 3
TP n (PCA to beamline)

< X2/ ndf >
P
00

i
T T[T [T [T T I [T TIT T

Ratio

1072 107
AR(track, jetg)



	Contents
	Page 1


